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Ergebnisse der Europawahl vom 25. Mai 2014

Stadt Hettingen

Wahlbezirk Hettingen

Wahl 2014

651
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Wahl 2014
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Wahl 2009
694
421

63,9%

400
21

%
71,2
12,9
55
0,7
0,7
0,0
0,0
1,0
0,7
15
0,0
0,0
0,0
0,0
0,0
0,3
0,0
0,0
0,0
4,7
0,0
0,0
0,3 o
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Briefwahl
Wahl 2009

104

100

%
64,7 62
11,8 10
13,1 2
13 13
13
0,0
0,0
13
0,0
0,0
2,0
0,0
0,0
0,0
0,0
0,0
0,0
0,0
0,0
3,3
0,0
0,0
0,0 -
0,0 o
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60,7%

%
66,0
10,5

53
10,5
0,5
2,0
0,5
15
0,8
0,5
0,0
0,0
0,0
0,0
0,0
0,0
0,0
0,0
0,3

%
62,0
10,0

2,0
13,0
4,0
1,0
1,0
0,0
1,0
0,0
1,0
0,0
0,0
0,0
0,0
0,0
0,0
0,0
0,0

Wahlbezirk Inneringen

Wahl 2014 Wahl 2009
770 768
500 497
64,9% 64,7%
488 474
12 23
% %
327 67,0 320 67,5
58 11,9 44 9,3
44 9,0 31 6,5
9 1,8 48 10,1
6 1,2 2 0,4
2 0,4 13 2,7
4 0,8 0 0,0
5 1,0 3 0,6
2 0,4 3 0,6
1 0,2 0 0,0
1 0,2 3 0,6
0 0,0 3 0,6
0 0,0 0 0,0
7 1,4 1 0,2
0 0,0 0 0,0
0 0,0 0 0,0
0 0,0 1 0,2
0 0,0 0 0,0
1 0,2 0 0,0
17 35 =
0 0,0 -
0 0,0 =
4 0,8 -
0 0,0 =
Gesamtergebnis
Wahl 2014 Wahl 2009
1.421 1.462
1.069 1.022
75,2% 69,9%
1.042 974
27 48
% %
713 68,4 646 66,3
128 12,3 96 9,9
86 8,3 54 55
14 1,3 103 10,6
11 1,1 8 0,8
2 0,2 22 2,3
4 0,4 3 0,3
11 1,1 9 0,9
5 0,5 7 0,7
7 0,7 2 0,2
4 0,4 4 0,4
0 0,0 3 0,3
0 0,0 0 0,0
7 0,7 1 0,1
0 0,0 0 0,0
1 0,1 0 0,0
0 0,0 1 0,1
0 0,0 0 0,0
1 0,1 1 0,1
41 3,9 -
0 0,0 =
0 0,0 -
5 0,5 =
2 0,2 -



